
100 930 30

90 6 2 2 300 3

4 80 70

800 630 7

400 2 90

930 1000 5

140 6 70

Работа 1

Реши примеры. Заполни пустые клетки схем.

1

Мой результат

1 мин 30 с — 2 мин  J, 2 мин 30 с — 3 мин  K, 3 мин 30 с — 4 мин  L

минут

380 20 7

4 120 50310 560 2

200 120 4

80 8 28 90 90

420 7 6360 200 4



650 150 3 

120 6 486 500 300

200 384 3808 70 180

800 4 5 2 403 3

600 80 570 210 3

2 90 70807 300 5

770 50 3

910 70 69 40 200

240 6 3170 3 90

Работа 2

Реши примеры. Заполни пустые клетки схем.

2

Мой результат минут

1 мин 30 с — 2 мин  J, 2 мин 30 с — 3 мин  K, 3 мин 30 с — 4 мин  L


